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TRABAJO PRÁCTICO REPASO 
 

1) Si x1=8; x2=4; x3=14; x4=5; x5=12; x6=5; x7=4; x8=11; x9=15; x10=3 lleva a cabo las siguientes operaciones 
 

a) ∑ (3xi − 2)i=6
i=1  

b) ∑ 2𝑥𝑖
2i=7

i=1  

c) ∑ (2xi + 1)i=10
i=1  

d) ∑ 6xii=5
i=1  

e) ∑ (𝑥𝑖
2 − 6)𝑖=8

𝑖=1  
 

2) Dado que 
x1=4; x2=8; x3=-5; x4=6;  y1=4; y2=3; y3=5; y4=9;  z1=7; z2=7; z3=6; z4=12 
Encuentre: 

a) ∑ (𝑥𝑖 + 𝑦𝑖)𝑖=4
𝑖=1  

b) ∑ 3𝑦𝑖 + ∑ 𝑧𝑗
𝑗=4
𝑗=1

𝑖=4
𝑖=1  

c) ∑ 5𝑥𝑖 ∗ 2𝑧𝑖𝑖=4
𝑖=1  

d) ∑ 34𝑖=4
𝑖=1 𝑦∑ (𝑧 − 1)

𝑗=4
𝑗=1  

e) ∑ 𝑥𝑖
2𝑦𝑖𝑧𝑖𝑖=4

𝑖=1  
 

3) Grafique las siguientes funciones 
a) 𝑓(𝑋) = 6 − 3𝑥 

b) 𝑓(𝑥) = 2 ×2 – 4 
c) 𝑓(𝑥) = 7 − 3𝑥2 

d) 𝑓(𝑥) = 12𝑥 − 6 
 

 
  


